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1. The definition of .J: Ju(v) = / ds div,(y J RC) ) C;*7
0
2. The t equation (du\ir(‘d) _
Jo(y J tm™) J RO/’ y) Jtm™ ) ROY™ + J(v ) RC,", // RCIIBCE ) e
3. The h equation (desired): Ju(bch(a. 8)) = J,(a) + J, (8 ) RCY) J C“°
4. CRC equation t: tm™ ) RCY™ = RCY | RCIFCE ) tm?
5. CRC equation h: RCPMB) — RO ) R j;y'{
6. CRC equation div: divy(a J RC \7L
7. div property t: v, (v J tmy’) = (divy(y) + div, (7)) J tmy’

" div property h — the “cocycle condition”: with ad] := dér(u — [v,u]),

(div, 3) J ad

3 Ja) ad}\(.&{) / ad:,';;((.t))

9. The definition of JA: JAL(y) == Ju(v) J RC)
10. The ODE for JA: with v, =~ J/ RC}",

JA(0) =0, = d — = JA(s) J ad)> +div, v, JA(1) = JA ()
1s
1 D 1
1. The definition of j (following A-T): j(eP) = / dse*P(div D) = (div D)
Jo

12. j’s cocycle property: jlgh) = j(g) +g-j(h)
. 1 — e adv | .

13. The differential of exp: de’ =e€ - (T) (67) = ( ad ) (67) - €

l1—e

..—H.d‘r 1= ._—a.do 1 — e—ad &) )
14. The differential of v = bch(a, 3): (T) (67) = (e_adﬁT) (dav) + (T) (65)
a~y (s ad |

B
15. The differential of C' (approximately): 0CT = ad, J/C
16. The differential of RC: 0RC)] = /D
17. The differential of J: 0Ju(v) = \_‘(V
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b D= ad Al &D(%) = %//C&/
C. Jivef Lel ( chi< %))4?\/
D Tk = KC //%/[Ww N /e



